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Exam 4 - Review Problems

Name:

In winter why does the temperature not rise more than a few degrees above freezing as long as
there is snow cover?

Joe (70kg) rides his 5.0 kg sled 30.0 meters down a slight incline covered in snow. If he changes
his elevation by 10 meters during this ride, determine his final speed if we ignore friction on the
slope.

If we include friction and it turns out that Joe travels at a constant speed down this slope, find
the average force of friction acting on the sled.

Disappointed with the slow ride, Joe waxes his sled and rides 30.0 meters down a steeper snowy
mountain that makes an angle of 250 with the horizontal. If the coefficient of friction between
the sled and the incline is 0.15,

a. use the concepts of work and energy to solve for the final speed of the sled.

b. How much snow is melted by the sled (when friction is included) if the snow is at 0°C?

A5 kg block of ice is initially at -65 °C and then combined with 1 kg of steam at 110°C. What is
the final temperature of the system, what is the final mass of ice, water and steam?
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0,00 kg or 13 fgc«v\S\





